GoEasy Presence Reference
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var goeasy = new GoEasy ({
appkey: ’ {appkey}’,
userld: ’ {user.uuid}’
userData: * {H P HINMER, F4FHREA, AT 300K}
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2. T B H P AESORES
2. 1 JRIACHS
goeasy. subscribePresence ( {
channel: ’channel A’,

onPresence: function (presenceEvents) {



//IR[B{H presenceEvents 7~
{
“clientAmount”: 2, //FEZ%S ) im%l &
“userAmount”: 1, //{EZH F =
“events”: [
{
“clientAmount”: 1,
“userAmount”: 1,

“events”: [

{
“action”: ”join”,
“userId”: “user id 17, //F)*id
“userData”: “derek” // P Mz B
},
{

“action”: “offline”,

“userld”: “user id 27,



“userData”: ”Jam”
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2.2 action Vil
Join: & il 1 channel Ih
leave: B UREUIY channel %I

offline: &/ N ZRBHT
online: ZRIVITAINAIE P i, EWIM G, HIERID

2.3 MRFEA M

goeasy. subscribePresence ({

channel: ’channel A’,



//iT 1% Presence {2

onSuccess: function () {
alert ( Presence subscription success.’);

}

/ /1T %] Presence 25

onFailed: function (error) {
alert ( Presence subscription failure.’);

}
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onPresence: function (presenceEvents) {
var data = JSON. stringify(presenceEvents)

alert C Presence:’ + data );
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2.4 BUHIT R H P ELIRES
goeasy. unsubscribePresence ({

channel: *demo channel’



/ /U
onSuccess: function () {

alert ("HUE VT 4 presence ). ”)
}s

/ /U R
onFailed: function (error) {
alert (""HUHIT 4 presence K. ”)
}
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3.1 Javascript

goeasy. hereNow (
{
channels: [’ channel A’, ”channel B”], //ZE&E A channel %13
includeUsers: true, //W[iETN, Z&iREHFHIE, RN false
distinct: true J/AlAET, RS EMAE R userld, BRIA false
I
function (response) {

//response =M



“code”: 200,
“content”: {
“channels”: {
“channel A”: {
“channel”: “channel A”,
“clientAmount”: 1, //fEL%S ) v &
“userAmount”: 1, //fEL&H PR
“users”: [ //EELH P A3
{
”id”: “user id 17, //FJ/ id

“data”: “derek” //FFHIINGEE

}
“channel B”: {

“channel”: ”channel B”,



“clientAmount”: 0,
“userAmount”: 0,

“users”: []

3.2 Rest API
Request:

http://<Rest Host>/presence?appkey={appkey}&channel={channel}&includeusers={includeusers}&distinct={distinct}

ZHL

channel [/, —NMER A PV £ A channel
includeusers //;&fIRBIH I, AL, RN false
distinct // BT FER userId, AN, ZRIA false

Response JSON:



//response 7~

“code”: 200,
“content”: {
“channels”: {
“channel A”: {
“channel”: “channel A”,
“clientAmount”: 1, //{EZR%E ot
“userAmount”: 1, //{ELRHFEE
“users”: [ //ELH P IR
{
”id”: “user id 17, //H) id
"data”: “derek” // R InE &



“channel B”: {
“channel”: “channel B”,
“clientAmount”: 0,
“userAmount”: 0,

"users”: 1]

3.3 Java

F+2% Java sdk £ 0.3.10

goEasy. presence (Arrays. asList (“channel A”, “channel B”),
false, // —EEEHF
false,// ML IEHEE userld
new PresencelListener() f{
@0verride

public void onSuccess (Presences presences)



//presences 71l
{
“channels”: {
“channel A”: {
“channel”: “channel A”,
“clientAmount”: 1, //fEL%S P vl &
“userAmount”: 1, //fELH PR
“users”: [ //EELH P A3
{
7id”: “user id 17, //H)F id

“data”: “derek” //FFHIINGEE

}
“channel B”: {
“channel”: “channel B,

“clientAmount”: 0,



“userAmount”: 0,

“users”: []

}

public void onFailed(GoEasyError error) {

throw new UnsupportedOperationException("Not yet implemented”);
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